
lh/L gu/kflnsf 
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d'nsf]if vftftkm{sf] k|:tflat cfoAoo /sd 
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2=1=1=2 g]kfn ;/sf/af^ k|fKtcg"bfg 
 

s=rfn' vr{ 
 

lalQo ;dflgs/)f cg"bfg 15,00,00,000. kbflwsf/Lx?sf] kfl/>lds tyf ;'ljwf 35,36,000. 

;zt{ cg"bfg 9,30,02,000. sd{rf/L kfl/>lds tyf ;'lawf 1,96,21,000. 

utaif{sf] cNof ?= 1,06,75,164.30 sfof{no ;+rfng ;DaGwL vr{ 59,53,000. 

g=kf=cg"bfg 32,87,977.30 sfo{qmd vr{ 3,66,00,000. 

cf=>f]= 
 

dd{t ;Def/ vr{ 20,00,000. 

;+l#o ;+/rgf k'af{wf/ ljsf; sfo{qmd 73,87,187. k/fdz{ tyf cGo ;]jfz'Ns 45,00,000. 

zx/L :jf:Yo sfo{qmd 
 

cg'udg,d'Nofª\g / e|d0fvr{ 26,00,000. 

s=cfGt/Ls >f]t ?= 60,00,000. cGt/ :yfgLo txlalQo x:tfGt/0f÷cg'bfg 

 
:yfgLo s/  

 
cGo sf]ifx? 30,00,000. 

;]jfz'Ns  
 

lalaw vr{ 17,77,977.30 

b:t"/ 
 

v=k'lhut vr{ 
 

cGo cfo 
 

;+l3o ;+/rgf k"jf{wf/ ljsf; afFsL e'StfgL 73,87,187. 

v=/fhZjaf*kmf* 
 

ejg lgdf{0f ÷vl/b 2,00,00,000. 

  
kmlg{r/ 15,00,000. 

  ;af/L ;fwg 70,00,000. 

    d]zLg/L cf}hf/ 12,00,000. 

    ;fa{hlgs lgdf{0f sfo{ 

 
    s= xf68fF8f kfs{ Joj:yfkg  15,00,000. 

    v= lgdf{0f ;'wf/ -Uof/]h_ 5,00,000. 

    
u= cGo ljsf; lgdf{0f tkl;n adf]lhd ljlgof]hg 

ul/Psf]  
4,80,00,000. 

  u=;zt{ cg'bfg 9,30,02,000. 

  z;t{ cg'bfg -sfo{qmddf tf]lsP adf]lhd_ 

 
s'n hDdf cfo 25,96,77,164.30 s'nhDdf -s_-v_ sf] Joo 25,96,77,164.30 

 


